FLERAE 100 £ 4 FALHEALE LS KKA
 AMESASERER (L)
ZRAE C BEBRED (v owen BB BenEs) K 80 o4

WEEAREEC 4 DR wERARARFL BRESHHFRHA BRHESBRAENHE 2 (1 )R

AR A - 2 100 5 -
— RAEAE (A3 H) (60%)

. F-18FDG % B FA{TRERMNDHEZIKT (ANE BME (OXBEE
(D)itk B.55%

2. ATe-99m HMPAO ASESSPECT i % T AU ey B3 m % > FIUTHRINY (A) |
SMEEBERE BMEMBKE  (CF %455 K& (Alzheimer’s disease) (D)L
FE 7K B £ (normal pressure hydrocephalus)

3. P"Te-MDP # A FAZTFHEETEANRKESHE > MHERS Y (AT
By (C)Fm  (D)F 4%

4. F 4T AEA 4 B 4 R e 38 18 IE ¥ 49 & §5 ¥ 2 (blood-brain barrier, BBB) ?
(A" Tc-HMPAO  (BY”™Tc-ECD  (C)*F-FDG  (D)”"TcO4’

5. EFUWE %% (PET scanner) 2 [ 488 %48 R 2 My-ray » Fcoincidence
window— A% &% £ 4 : (A)12 miliseconds (B)12 microseconds (C)12
nanoseconds ()12 picoseconds

6. AB2xCT &) 4% Me{h 6,4 %6 B A-60%]+140 » Bl £ window width (WW) Fowindow
level (WL) A4 2 (A)YWW=200 » WL=+40 (B)WW=200 » WL=+80 (C)WW=80 -
WL=+80 (D) WW=80 » WL=+40

7. TFITHAHDERYRER OB ASHREREZADTIHGFIIZT?
(Al 4 (Lateral )4 £ (B)Waters #%  (C)#&ATr#%kFH(PA) (D)Stenvers e

E)
T

8. WAMEAISWER > E R (ARE S IR - BHERRF (BRI
R@miip mewtvhoRtR OBkt allEs meBLCR

w2 TR Ga% (D)E2F & a 8 e T248

0,  TAESE 4745 2 CTDIw=10 mGy, ##4 & &=20 cm > pitch=2 > 3% 5
DLP(mGy-cm)=? (A)14.4 (B)I00 (C)200 (D)400

10, FHE %R BAR=0.693 e’ > A EE=2cm > AHATRERL 4

S FmE 051 - HME THBEFRESIS,, B S bR G E T AR Y
(A)O.11. (B)0.1251,  (C)0.251, (D)0.4I,




B2 XS 100 LEEALEANSE A SRR
A Ea e L (L4)
ZRFE C BELR (SulonR - B% B2yug) IR 80 o4

WHEEARER( 4 R BRRRAEAE BEYSEAAET  SUsANEAESHE - ® (2 ) R

11. 3 F—30 cmx10 cm4ET M8 B3 5 AR 5k B W RBP4 F48(cm) 7 (A)B.S  (B)9.1
(C)9.8 (D)10.3

12, 2 44k %2 8,k (TAR)== 4 4 {4.(BSF) » 35 M sbis 4 R 2 8 4R BB E(%DD)=?
(A)100 (B)95 (C)60.9 (D)50

13. Flattening filter ¥ % 84 7 f6. 22 (A XA ERERE R LR 4L BWET
R2 3R S BRI R . OB TFRBSAXES DIREF LRI
T R

14, SATF 474 BBNCT( ¥ F #1184 R IE X 7 (A) §n+'IB—5 Hes L
(B)in+'9BoarlLi (C) 'IB+"IN-"2C+27D4]Be (D)!9B+14N-"2C+23 T+ Be

15. 48 AR ER LT R 10 om K 69 REIE 45 4E A SSD=100 cm » BAEF 5L A 531
#20cmA30cm - AT BELEEHNEESMES  $HEanlRBFEEERE
EEERMILESSE S ?2(A)1.25em  (B)2.5cm (C)5.0 cm (D)10.0 cm

16. B22F8x8 cm » SSD=100 cm#y 10MV 2 X 5, 47 # B (parallel opposite) & > Thak
AB) 5 BB FE A20 cm > P BE 89 9GDD=T2.5 1 dpe=2.5 om0 Fdpg R 89T R A
#] & %110 cGy » 7R Ed=17.5 cm& #9%DD=50.8 > AR E2.5 cmie yaplE s % b
Gy 2 (A) 1116 (B)150.8 (C)159.5 (D)165.9

17. ChoEX AR em g2 A b > H3583.336x10" CE & » 35 ] Exposure=?
(A)0.1 R (B)! R (C)1000 R (D)3876R

18. 458 F2K~L M- N & T &4 4E(binding energy) % 5] £70~ 12~ 2.5~ 0.5 keV »
HPAKLMAE =7 (A)46 keV  (B)55.5keV  (C)65 keV  (D)67.5 keV

19. HB2K(T.7%)%2 (AKFE8E S s B)KEAN s 300y

iR E -+ Eb A7 (C)AugerE o] (D)K /& electron A (3a6%).514  BIng

capture 9 b 15| ) — - 255m

p p3(5.4%) leg ¢ KW'7°/°]
ure . KeEE 1 L0.4%) 5

20. B triplet production - 47 # E.#% 7 (A) =18 EF | M(05%)

BEF#HAE (B)—BEFh—BEFRAS > &
h—ARAMETTRMETF RS O£RT
BB ThEE OVERZTTREEE




L BRERE 100 25 EATEANRR AL RAA
e BEMELELE (L)
ERAE C BEBGEPE (v ek BE - BEpEe) KR 80 54

KEEEARMA( 4 ik wBRRABFAE  BESHARE  FUKASHBAESHE- £ (3 DA

S EA (B0 ) (40%)
|, 2T & AEERYFHE NH) & TR=500 ms> TE=25 ms #%» 33+ £ fat/water

8238 3% E EL 1R ? (Signal L bt NCH) (1-e~TR/TLy-TE/T2y

Tissue T1(ms) T2(ms)
Water 2500 2500
Fat 200 100
CSF 2000 300
Gray matter 500 . 100

2. £ 125kVp B ET > @ H e st BRI Lee=0.1872 cm™ » K&y SRiE R K

Hyae=0.180 cm™ > k {4 A 1000 - Al35 W & H oy CT {E=?




P BREKE 100 ZFEBRLIHEASHBEFRIA
AR EHEAE LY (L)
FRHAE BLYLL (au - -uE- -Bepme) B 80 44

KEEEARAL( 4 DR WERARFL RESHRAR > FUKAFOBAEIHE- B (4 )R

3. Apatient is treated with %Co radiation. Supposing that the machine is calibrated in air
in terms of dose rate free space, find the treatment time to deliver 200 cGy (rad) at a
depth of § cm, given the following data: dose rate free space = 150 ¢Gy/min at 80.5 cm
for a field size of 10x10 cm, SSD = 80cm, percent depth dose = 64.1, and backscatter
factor = 1.036.

A, BhoEE B K TS chvee———— > Ho=—"" s 220,511 MeV &3 %F
1+ a(l—cos0) 0.511

Foid b 09E 774 4 Compton 7374 - RI#cst A=30"8% » FMLTFHBLETS)
gt & (keV)=7




